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Key: show how growth of capital stock(K), labor force(L), and technology advance(A) interact
in an economy as a whole, and how they offset a nation's total output.
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Add in another parameter: 5=depreciation rate3fT £ %
Capital just works out (6=0.04, on average)

=>change in capital: Ak=i-6k (ex. Ak=10-0.04*100=10-4=6 £ A % 7 3&iPad)

Sk Sk
=>Dk=sAf(k)-8k) | .

When would a country's k stop changing?
i.e., when would we see Ak=0 (moving up or down ?)
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Solos model tell us:

(1)no matter where it begins (i.e., k big or small)
the economy eventually approaches to s.s. aka k
why: sf(k) is decreasing in k, but k fixed.
(2)one of the most important implication of s.s. result in there is

No long run growth in Solow model
=>other factors must play important roles
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